[ Efficiency vs vertpos |
= 0.0%

%.009
g
9.008
(8]
@.007
=]
.006
0.005
0.004
0.003
0.002
0.001

.........................................

........................................

=T

LA LA A L R LN RN RN LR RR RN RRRRN RARRN LARLE RRRRN RRRR)

1072 101 1 10 0?
TP vertr (cr%)

IC{HP ggd..n{vmu. +6p0evt
ﬁégé %%igﬁ 1RO TLIERS 1000evt

—ehoC

11111

Efficiend —— %g

10

~n 0.01 : :

©.000F++-+tvee et e f, .......
n E : : : : :
B.008F- -+ -heefordereeeebe b,
> F . . . . .

S o : : . . :
O e e e SRS SRR
Y00 1s RN SO NSRS SISO R S
o E : : : :

0,005 -+++-beereferdeesenesd o
0.004F+++ebeefediemseenbonncnbinn s
D00 SRR RS SR S SRR SIS
0.002F +++++eefeifleenedon e fonns S
0.001F koo {4 IMM ........ S

Ratio

................

P

RS

et 1 il

-30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~0.02

> F E E E E E
@-018__ """ N I prrtrrrriTTTTTY p

Boteh o

T O R T e e

=Y PESS S SN SRS SRON SRS S
R s S S

0.008:
0.006F
0.004F
0.002F

9 J..G 11

g Fobecde L
RISl & (B A M ES
11 SRRSO SRS (1 B R L8 b

20 15 -10 5 0 5 10
Sim. PV z (cm)



	Contents
	Page 1


